Converting Fahrenheit to Celsius (A)

91°F=___°C
68°F=__ °C
33°F=___°C
90°F=___°C
46°F=__ °C
46°F=__ °C
79°F=___°C
60°F=___ °C
95°F=___ °C
45°F=___ °C

82°F=___°C
95°F=___ °C
82°F=___°C
72°F=___°C
39°F=___°C
81°F=___°C
85°F=___°C
61°F=___°C
83°F=___°C
54°F=___°C

Estimate or convert the temperatures.

38°F=___°C
74°F=___°C
41°F=___°C
74°F=___°C
44°F=__ °C
76°F=___°C
33°F=___°C
68°F=__ °C
86°F=___°C
52°F=___°C
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Converting Fahrenheit to Celsius (A) Answers

91°F=32.8°C

68 °F = 20 °C

33°F=0.6°C

90 °F =32.2°C

46 °F = 7.8 °C

46 °F = 7.8 °C

79 °F = 26.1 °C

60 °F = 15.6 °C

95°F=35°C

45°F=7.2°C

82 °F=27.8°C

95°F=35°C

82 °F =27.8°C

72°F=22.2°C

39°F=3.9°C

81°F =27.2°C

85°F =29.4°C

61 °F =16.1"°C

83 °F = 28.3 °C

54 °F=12.2°C

Estimate or convert the temperatures.

38°F=3.3°C

74 °F =23.3 °C

41 °F=5°C

74 °F = 23.3 °C

44 °F = 6.7 °C

76 °F =24.4 °C

33°F=0.6°C

68 °F =20 °C

86 °F =30 °C

52°F=11.1°C
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